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BRER fnZEst PBB# A% R fnZEst PBB# A%
mE JALT )L —T 98% TFH JALD JL— 100%
BE ANAZ )L —T 82% FIH ANAZ JL—T 100%
AL JALY )L—T 82% T H AORDO 96%
AT ANAY JL—T 97% FIH ZhA<—5 96%
= Al JALY )L—T 59% wa ANAS JL—T 100%
= %0 ANAZ JL—T 84% S AORDO 94%

Je L JALY )L—T 99% Wwa ZhA<—5 50%

| ARE—=054¥— 95% i AORDO 52%
faff JALY L—T 100% B H JALT J—T 99%
i=1c ANAT L—T 98% Bk H ANAG )L—F 100%
15 il RE—T754Y— 79% X E SIYRRE—-Tx/ly 85%
15 ] RALI—Y 96% X E IFTFOT - SxiNy 100%
KI5 JALY L—T 89% R H ZAA<—1 85%
RI5 ANAT )L—T 98% &R JALDZ IL—F 81%
E & AN 29 TY TIRZE 56% & ANAY JL—T 100%
REAR JALY JL—T 87% &R SIYRRA—-Tx/Ro | 100%
TS ANAT )L—T 96% hg IFTOT DXy 100%
REA AN 29TV TRLZE 69% hE ZHA<—H 99%
AER AHAR—Y 83% F JALZ IL—T 100%
AN/ JALG JL—T 90% e ANAT JL—T 100%
K7 ANAT )L—T 85% B JALZ IL—T 99%
PN 7\7]4*“}}*‘7"/“7fi}ﬁ$ 63% 5k ANAS JL—T 100%
= I JALG JL—T 52% B Peach+ Aviation 100%
= U ANAY )L—T 78% B SIYRRE—-Tw/Ro | 100%
= I AN 29TV TRLZE 91% e ANAS JL— 100%

RS JALY IL—T 93% e ZH{<—5 28%

ERS ANAY JL—T 95% IN=] JALY IL—T 100%

RS AN 29TV TRLZE 74% LE ANAS JL—T 100%

BERE AHAI—Y 84% 12l JALG IL—T 100%
AE JALY )L—T 100% 18k ANAZ JL—T 100%
AR ANAY JL—T 99% PR ZhA<—5 100%
A E AAAR—Y 99%

#AiE JALY IL—T 100%

#AiE ANAG JL—T 70%
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OFHEZEH
R finZesit PBBERAE
22 5l JALY )L—T 57%
Al AORDO 86Y%
ABJII JALY IL—T 75%
ABJII AORDO 74%
HII R JALY )L—T 81%
HII R ANAY J)L—T 74%
I 2% AORDO 71%
Gl JALY )L—T 85%
Gl AORDO 71%
T JALY )L—T 100%
T ANAY J)L—T 95%
% AORDO 81%
T ANAI—1 95%
EKEE JALY )L—T 66%
EKEE ANAY J)L—T 93%
EKEE AORDO 98%
FAE JALY )L—T 73%
A E ANAY )L—T 95%
RN JALY IL—T 99%
IR ANAG JL—T 92%
#5t JALY IL—T 100%
#51 ANAG JL—T 100%
E3Fic] JALY IL—T 100%
E3Fic] ANAG JL—T 90%
ESFic] ARE—=054Y— 23%
#HE ANAY )L—T 96%
#HE AHLT—4 88%
fif] L JALY IL—T 88%
fif] L ANAG JL—T 88%
LS JALY )L—T 96%
LS ANAY )L—T 92%
=R JALY IL—T 63%
= ANAG JL—T 85%
= JALY )L—T 90%
= ANAY )L—T 84%
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R finZesit PBBERAE

FH JALY L—T 100%

FH ANAG JL—T 100%

FH AORDO 99%

OEEEZE#

R fnZesit PBBERAE

FH JALY IL—T 100%

FH ANAY JL—T 100%

FH AORDO 100%
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R finZesit PBBERAE
TR JALTZ )L—T 54%
T ANAY )L—T 100%
% AORDO 100%
T ANAI—Y 100%

F1 JALY JL—T 100%

#£t ANAY JL—T 99%

2] JALY )L—T 100%

2] ANAY )L—T 100%

2] ANAI—Y 100%

ORZEE

R finZesit PBBERAE
FFix AORDO 100%

#51 ANAG JL—T 100%

12 ANAY JL—T 100%
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H JALY )L—T 100%

FH ANAY JL—T 100%
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ERAR fnze 1t PBBff X ERHR fnze 1t PBBff %
FH JALY )L—T 100% FH JALY L—T 100%
FH ANAG JL—T 100% FH ANAG JL—T 100%
T JALY IL—T 100% FIH ABA—T 54— 100%
T ANAY J)L—T 95% FH ANAI—Y 99%
N T % JALY )L—T 100%
OE#AZE; FFis ANAY )L—T 100%
PR AR nEStt PBB{§ A& % AHALI—Y 98%
FH JALY )L—T 100% = ANAY JL—T 100%
FH ANAG JL—T 100% = AHAI—9 100%
i ANAY )L—T 69%
OB ZEH o] JALY IL—T 100%
B R fnZEsit PBBEAE oA ANAY JL—TF 99%
FH JALY )L—T 100% R H DIYRRBR— T/ 55%
FH ANAY )L—T 100% R H I7T7T -TxINy 97%
o] ANAI—Y 94%
Oz k=il ANAG JL—T 99%
PRER fZEstt PBB{# % akid DIYRRB—-T N 63%
FH JALY )L—T 100% Fh &R IFTOT vy 89%
FH ANAG JL—T 100% #51 JALY IL—T 100%
_ #51 ANAG JL—T 99%
OE 4Nz & E3Fi] ANAG JL—T 97%
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FH JALY )L—T 100% E3Eic] DIYRRBZ— T\ 93%
FH ANAY JL—T 100% AR ZR JALY )L—T 100%
ARER ANAY JL—T 99%
Odb A Ze AR ZR ADhAI—Y 98%
R finZesit PBBERE
FH JALY )L—T 100%
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R finZesit PBBERE
FH JALY )L—D 100%
FH ANAG JL—T 100%
FH AN 29 TS TILZE 100%
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R finZesit PBBERAE
FH JALY L—T 100%
FH ANAG JL—T 100%
FH AN 29 TS TIRZE 100%
#51 ANAG JL—T 100%
OREARZH
R fnZesit PBBERAE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH AN 29Ty TIRZE 100%
FH ANAT—Y 99%
#51 ANAG JL—T 99%
OE gz
R finZesit PBBERAE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH AN 29Ty TIRZE 100%
#51 ANAG JL—T 100%
AR ZR AN 29 TS TIRZE 100%
OEREZEHR
R fnZesit PBBERAE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH AN 29 TS TIRZE 99%
FH ANAT—Y 100%
#51 ANAG JL—T 100%
AR ZR ANAG JL—T 100%
AR ZR AN 29 TS TIRZE 98%

OMFEH
R finZesit PBBERE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH ANAT—Y 89%
o] JALY )L—T 100%
o] ANAY )L—T 100%
R H DIYRRB— T/ 57%
pAss] IFTOT DX\ 0%
pAss] ANAIT—4 98%
skl JALY IL—T 87%
k=il ANAG JL—T 73%
skl AHAI—Y 73%
#51 JALY IL—T 100%
#51 ANAG JL—T 100%
E3Fi] JALY IL—T 93%
E3Fii] ANAY )L—T 89%
E3Fit] Peach*Aviation 0%
ESEic] DIYRRBE— T\ 80%
#HE ANAY )L—T 100%
#HE AHL4T—4 66%
2] JALY )L—T 98%
2] ANAY J)L—T 93%
2] ANAI—Y 83%
= 5 ANA29b Ty T2 93%
BRE ANAY J)L—T 97%
BERE AN 2TV TIZE 97%
=& JALY )L—T 98%
=0 ANAY )L—T 86%
$EiE JALY )L—T 93%
$EiE ANAY J)L—T 93%
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ABJII JALY IL—T 75%
ABJII AORDO 80%
HII R JALY )L—T 81%
i 153 ANAY )L—T 79%
pi | iz AORDO 73%
Gl JALY )L—T 84%
Gl AORDO 67%
T JALY )L—T 100%
T ANAY J)L—T 95%
% AORDO 84%
T ANAI—1 96%
EKEE JALY )L—T 66%
EKEE ANAY )L—T 97%
EKEE AORDO 94%
FAE JALY )L—T 69%
A E ANAY )L—T 86Y%
RN JALY IL—T 99%
RN ANAG JL—T 95%
#5t JALY IL—T 100%
#51 ANAG JL—T 100%
E3Fic] JALY IL—T 98%
E3Fic] ANAG JL—T 91%
ESFic] ARE=054%— 29%
#HE ANAY )L—T 85%
#HE AHLT—4 90%
fif] L JALY IL—T 85%
fif] L ANAG JL—T 96%
LS JALY )L—T 96%
N=) ANAY )L—T 98%
=R JALY IL—T 60%
= ANAG JL—T 87%
= JALY )L—T 89%
= ANAY )L—T 95%
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ERHR St PBBEAE Big fnZEsit PBBE A%
®me JALY ) L—7 98% FH JALT )L—T 100%
‘e ANAYD JL—7 84% FH ANAY )L—T 100%
LN} JAL7“)L—7° 82% FH AORDO 97%
AR L ANAZ JL—7 96% FH AhA4<—5 97%
= yall JAL’J}L—?" 58% = ANAG JL—T 100%
= &0 ANA7: JL—7 98% = AORDO 94%
Jt L JALY )L—T 97% = ADhAI—Y 57%
il;_de‘I‘l 19—254 — 95% 5 AORDO 42%
@ﬁ JAL7“)lx—7° 100% . H JALY )L—T 98%
@m ANAG JL—T 99% BH ANAY )L—T 100%
@Iﬁl REA—T7534N¥— 80% [ DIYRRBE— T\ 86%
2] ANAX—=7 99% 5] ITFTOT-OxI\Y 99%
F G JAL7“)L—7° 89% BH AHAI—Y 81%
E % ANA% )l/“—7° 98% th JALY )L—T 83%
%mﬁ AnAFb 7Y THZE 77% hE ANAY JL—T 100%
552: JAL7“)L—7° 87% maki DIYRRB— T/ 98%
,352: ANA% )yf7° 93% hE IF7T7OT - TxiNy 100%
E‘E‘K ANA 29Ty TR ZE 80% maksi ABAI—Y 99%
BE K 7\134: <=7 83% #5t JALY IL—T 100%
xﬁ JAL7“)lx—7° 90% #51 ANA’J:‘ JL—7 100%
X 2 ANA%Y )k—?" 83% E5EiE] JALY )L—T 99%
ZEJJ AnA#9bT Y THIZE 78% Eali] ANAY JL—T 100%
= [l JAL7“)L—7° 51% Eali Peach* Aviation 100%
B ANAZ% )k—?" 95% Eafif] DIYRRA— T\ 100%
EI.EIII% ANA1y F?*/ Tz 89% ?HE ANAG JL—T 100%
e P e e e
EE JT — o IN — 95%
=] ANA2YbT Y TRLZE 82% N ANAG JL—T 100%
ELEE% ANAR—=7 85% f2E JALY )L—T 100%
%BE JAL7“)lx—7° 100% 12 ANAY )L—T 100%
ggﬁ AXNQ?I/ ) L—g" 95% f2E AHAI—9 98%
2 <— 98%
aiE JALY )L—T 100%
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PR izt PBBf A& IR izt PBBf§ A&
FH JALY )L—T 100% FH JALY L—T 100%
FH ANAY JL—T 100% FH ANAY JL—T 100%
FH REA—054 ¥ — 100%
OfBZH F1H ANAI—H 100%
PR R izt PBBfs & T % JALY IL—T 100%
FIH JALY )L—T 100% T ANAS JL—TF 100%
FH ANAY JL—T 100% T % AHhA<T—4 100%
=S ANAY JL—T 100%
O#MILZEH & ANAR—Y 100%
R Mzt PBB{f A% i ANAY J)L—T 75%
FH JALY )L—T 100% R H JALY IL—T 100%
FH ANAG JL—T 100% R H ANAG JL—T 99%
R H DIYRRB— v /N 55%
O HZEH R H ITFTOT OxI\ 98%
IR izt PBBf§ A& o] AHhAR—9 98%
FH JALY JL—T 100% F &R ANAG JL—T 100%
FH ANAY JL—T 100% &R DY RE— ¥\ 61%
b &R IFT7OT - OxINy 100%
Odb AL Ze #i1 JALY )L—T 100%
| BRR st PBBEAX # ANAY JL—T 92%
FH JALY JL—T 100% £k ANAG JL—T 98%
FH REA—T534X¥— 84% E5Ei] Peach* Aviation 77%
E3Fic] DIYRRBR— T\ 94%
OKH L} = % ANAY J)L—T 88%
R fnZestt PBBfs & ARZR JALY IL—T 100%
FH JALT IL—T 100% A ER ANAG JL—T 100%
FH ANAY JL—T 100% AR ER AHNAT—Y 98%
FH ANA2Y Ty TRRLZE 100%

OflIRRZE &
IR izt PBBf# &
FH JALY )L—T 100%
FH ANAY JL—T 100%
JF1H AORDO 100%
OXfEZ#
ERAR izt PBB#E %
FH JALY )L—T 100%
FH ANAY JL—T 100%
JF1H AORDO 100%
Oll& ZE;
| EXER MZEStt PBBEAE
;% JALZ )L—T 32%
T ANAY )L—T 100%
% AORDO 100%
% ANAR—Y 98%
#£t JALY )L—T 100%
#£t ANAY JL—T 100%
12 ANAY )L—T 100%
&[] ANA<T—H 100%
Oz
| ERER MZEStt PBBEAE
i AORDO 100%
F51 ANAY J)L—T 100%
O/ ZE
IR izt PBBf# &
FH JALY L—T 100%
FH ANAY JL—T 100%
OLEZEE
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FH JALY L—T 100%
FH ANAY JL—T 100%
T JALY )L—T 100%
T ANAY )L—T 100%
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OMFEH
R finZesit PBBERE
FH JALY )L—T 100%
FH ANAG JL—T 92%
FH ANAT—Y 90%
o] JALY )L—T 100%
o] ANAY )L—T 100%
o] DIYRRBR— T\ 58%
i H IFTOT XN 0%
pAss] ANAIT—4 99%
skl JALY IL—T 88%
k=il ANAG JL—T 73%
skl AHAI—Y 89%
#51 JALY IL—T 100%
#51 ANAG JL—T 100%
E3Fic] JALY IL—T 90%
E3Fii] ANAY )L—T 85%
E3Fit] Peach*Aviation 0%
ESEic] DIYRRBE— T\ 92%
#HE ANAY )L—T 99%
#HE AHL4T—4 68%
2] JALY )L—T 97%
2] ANAY J)L—T 92%
2] ANAI—Y 91%
BERE ANAY J)L—T 95%
BERE ANA29bTY T2 90%
== JALY )L—T 99%
== ANAY J)L—T 86%
$EiE JALY )L—T 93%
$EiE ANAY J)L—T 89%

R finZesit PBBERAE
FH JALY L—T 100%
FH ANAG JL—T 100%
FH AN 29 TS TIRZE 100%
#51 ANAG JL—T 100%
OREARZH
R fnZesit PBBERAE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH AN 29Ty TIRZE 100%
FH ANAT—Y 100%
#51 ANAG JL—T 100%
OE gz
R finZesit PBBERAE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH AN 29Ty TIRZE 100%
#51 ANAG JL—T 100%
2] ANAY )L—T 100%
OFRBEZH
R fnZesit PBBERAE
FH JALY )L—T 100%
FH ANAG JL—T 100%
FH AN 29 TS TIRZE 99%
FH ANAT—Y 99%
k=il ANAG JL—T 100%
k=il DIYRRBE— T\ 100%
#51 ANAG JL—T 100%
AR ZR ANAG JL—T 100%
AR ZR AN 29Ty TIRZE 98%
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ER R ==tk EEVTEES BRAR fRZE &1t PBB{f A%
B JALG JL—T 98% FIH JALT JL—7 100%
BE ANAZ )L —T 61% FE ANAG JL—F 100%
AL JALY )L—T 89% T H AORDO 99%
AL ANAY JL—T 90% FH ZhA<—5 96%
= Al JALY )L—T 49% wa ANAS JL—T 100%
=50 ANAY )L—T 82% s AORDO 87%
Je JALY L—T 87% ma ZhA<—5 7%
Jt AL ARE—T754Y— 96% F7RE] ANAS JL—T 98%
faff JALY L—T 100% ETE] AORDO 20%
f2E ANAY )L—T 97% [5d:] JALY )L—T 99%
15 il RE—T754%— 81% X B ANAG JL—T 100%
i1t Ah4=—9 99% Bk H SIYRRE— TNy 88%
RIF JALY L—T 81% % IFTFOT SNy 100%
o of ANAY JL—TF 97% 5z ZAA<—1 80%
El& AN 2TV THILZE 81% hE JALG L—F 81%
REAR JALT L—T 91% kel ANAS JL—T 100%
REA ANAT )L—T 79% b SIYRRE— TNy 92%
BEA AN 2Ty THLZE 85% hE IFFOT %N 100%
REA Ah4=—9 83% b Ah4<T—% 98%
Koy JALY L—T 86% F JALZ IL—TJ 100%
Koy ANAT )L—T 69% FF ANAZ JL—T 100%
PN Zb(*“}h?"/‘?ﬁ}ﬁ? 86% e JALT J—F 100%
= I JALG JL—T 66% B ANAG JL—F 100%
= ANAY JL—T 90% E3Fic] Peach* Aviation 99%
= AN 29TV THLZE 88% EaFi] IR RA—-T N 100%
BRE JALY )L—T 93% e ANAS JL—T 100%
BERS ANAS JL—TF 89% e AORDO 73%
BERE AN 29TV TRLZE 90% e ZH{<—5 35%
ERE ANAX—=Y 85% L5 JALG JL—T 98%
AR5 JALY )L—T 99% L5 ANAG JL—T 100%
illE ANAY )L—T 94% 18 JALY IL—T 100%
AE ARAR—Y 99% 1& il ANAG JL—F 100%
FEiE JALY IL—F 100% P 2A(<—5 100%
FAiE ANAS JL—TF 95%
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Al AORDO 80%
ABJII JALY )L—T 75%
ABJII AORDO 72%
HII R JALY )L—T 76%
i 153 ANAY )L—T 73%
pi | iz AORDO 72%
Gl JALY )L—T 60%
Gl AORDO 62%
T JALY )L—T 99%
T ANAY J)L—T 96%
% AORDO 91%
T ANAI—1 99%
EKEE JALY )L—T 99%
EKEE ANAY )L—T 95%
EKEE AORDO 79%
FAE JALY )L—T 64%
A E ANAY )L—T 80%
RN JALY IL—T 99%
RN ANAG JL—T 94%
#5t JALY IL—T 100%
#51 ANAG JL—T 100%
E3Fic] JALY IL—T 98%
E3Fic] ANAG JL—T 91%
ESFic] ARE=054%— 29%
#HE ANAY )L—T 93%
#HE AHLT—4 90%
fif] L JALY IL—T 93%
fif] L ANAG JL—T 83%
LS JALY )L—T 93%
N=) ANAY )L—T 96%
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= ANAY )L—T 81%




OflIRRZE &
| IR fZEsit PBBERE

FH JALY )L—T 100%

FH ANAY JL—T 100%

JF1H AORDO 100%
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FH JALY )L—T 100%
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JF1H AORDO 100%
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;% JALZ )L—T 31%
T ANAY )L—T 100%
FFis AORDO 100%
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12 ANAY )L—T 100%
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FFis AORDO 100%
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FH ANAY JL—T 100% P H ANAG JL—T 100%
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o] JALY )L—T 100%
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FH ANAG JL—T 100% 5] ZAHL4<—" 97%
h &R ANAY )L—T 99%
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HH JALY )L—T 100% F51 JALY IL—T 99%
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FH JALY )L—T 100%
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o] JALY )L—T 100%
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skl JALY IL—T 90%
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skl AHAI—Y 100%
#51 JALY IL—T 100%
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2] JALY )L—T 97%
2] ANAY J)L—T 95%
2] ANAI—Y 100%
BERE ANAY J)L—T 46%
BERE ANA29bTY T2 91%
=& JALY )L—T 98%
=0 ANAY J)L—T 85%
== ANAI—Y 81%
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